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$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python

$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

-rwxr—-xr—-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr—-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r—-—-r—-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of —-cftuvSUX nor —--sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()
e AEE AT AUk
$ python3 prog.py
$ python3 prog.py —--help
usage: prog.py [—h]
optional arguments:
-h, —-—help show this help message and exit
$ python3 prog.py —--verbose
usage: prog.py [—h]
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prog.py:
$ python3 prog
usage: prog.py
prog.py:

error:

error:

unrecognized arguments:
.py foo

[-h]

unrecognized arguments:

—--verbose

foo
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import argparse

parser

argparse.ArgumentParser ()

parser.add_argument ("echo")

args

parser.parse_args ()

print (args.echo)
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$ python3 prog
usage: prog.py
prog.py:

$ python3 prog.

usage: pProg.py

error:

-PYy

[~h]
the following arguments are required:

py ——help
[-h] echo

echo
echo

positional arguments:

echo

optional arguments:

-h, —-help

foo

show this help message and exit
$ python3 prog.

py foo
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args()

print (args.echo)

a3 ol g A gyt

$ python3 prog.py -h
usage: prog.py [—-h] echo

positional arguments:
echo echo the string you use here

optional arguments:
-h, ——help show this help message and exit
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4
Traceback (most recent call last):

File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4

16

$ python3 prog.py four

usage: prog.py [—h] square

prog.py: error: argument square: invalid int value: 'four'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args()
if args.verbosity:
print ("verbosity turned on")

g2 olgsyth:

$ python3 prog.py —--verbosity 1

verbosity turned on

$ python3 prog.py

$ python3 prog.py —--help

usage: prog.py [-h] [--verbosity VERBOSITY]

optional arguments:
-h, —-help show this help message and exit
—--verbosity VERBOSITY
increase output verbosity
$ python3 prog.py —-verbosity
usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument —--verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

282 odsyrh:

$ python3 prog.py —--verbose

verbosity turned on

$ python3 prog.py —--verbose 1

usage: prog.py [-h] [--verbose]

prog.py: error: unrecognized arguments: 1
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$ python3 prog.py —--help
usage: prog.py [-h] [-—-verbose]

optional arguments:
-h, —--help show this help message and exit
—-—verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

g ol FgA gyt

$ python3 prog.py -v
verbosity turned on

$ python3 prog.py —--help
usage: prog.py [-h] [-V]

optional arguments:
-h, --help show this help message and exit
-v, ——-verbose increase output verbosity

z=2age] B4 BAHA L dgyh
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbose", action="store_ true",

(THS sTTolAToll A1)
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args =
answer =

help="increase output verbosity")

parser.parse_args ()
args.square**2

if args.verbose:

print ("the
else:

square of equals ".format (args.square, answer))

print (answer)
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$ python3 prog
usage: prog.py
prog.py:
$ python3 prog
16

$ python3 prog

error:

-PYy

[-h] [-v] square

the following arguments are required: square

.py 4

.py 4 —-verbose

the square of 4 equals 16
$ python3 prog.py —--verbose 4
the square of 4 equals 16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,

help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", type=int,

help="increase output verbosity")
parser.parse_args ()
args.square**2
if args.verbosit
print ("the square of
elif args.verbosity
print ("{}"2
else:
print (answer)

args =
answer =

equals ".format (args.square, answer))

".format (args.square, answer))

SEERE

S4rth:

$ python3 prog.py 4

16

$ python3 prog.py 4 -v

usage: prog.py [-h] [-v VERBOSITY] square

prog.py: error: argument -v/--verbosity: expected one argument
$ python3 prog.py 4 -v 1

472 == 16

$ python3 prog.py 4 -v 2

the square of 4 equals 16
$ python3 prog.py 4 -v 3

16
g 20 W18 Y= upA e AL At 28 S Bt ——verbosity 54 0] ®o}
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

if args.verbosity == 2:

print ("the square of {} equals {}".format (args.square, answer))
elif args.verbosity ==

print ("{}"2 == {}".format (args.sgquare, answer))
else:

print (answer)

Y2 gy

$ python3 prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python3 prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:
square display a square of a given number

optional arguments:
-h, —--help show this help message and exit
-v {0,1,2}, --verbosity {0,1,2}
increase output verbosity

WA NS 0 F WA £ BAGE NPT
VAl A EE TR ThE F 2L AHSS) BAIT o W2 3 de) ALgH Uth E 8, o WS CPython
A% o] A ] AAEE A el s HATHE A FUTH(python ——help o AFE FAFHA 2):

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display the square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

if args.verbosity == 2:

print ("the square of {} equals {}".format (args.square, answer))
elif args.verbosity ==

print ("{}"2 == {}".format (args.sgquare, answer))
else:

print (answer)

EA 54 AAE A A A F+E AL 98 “count” B T TS AAE EYASFYTH

python3 prog.py 4
6

S - A

python3 prog.py 4 -v
2 == 16
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$ python3 prog.py 4 -vv

the square of 4 equals 16

$ python3 prog.py 4 —--verbosity —--verbosity
the square of 4 equals 16

$ python3 prog.py 4 -v 1

usage: prog.py [—-h] [-v] square

prog.py: error: unrecognized arguments: 1

$ python3 prog.py 4 -h

usage: prog.py [—-h] [-v] square

positional arguments:
square display a square of a given number

optional arguments:

-h, —-help show this help message and exit
-v, ——-verbosity increase output verbosity
$ python3 prog.py 4 —-vvv
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args()

answer = args.square**2

# bugfix: replace == with >=
if args.verbosity >= 2:
print ("the square of equals ".format (args.square, answer))
elif args.verbosity >= 1:
print ("{}"2 == ".format (args.square, answer))
else:

print (answer)

e olgA gyt

$ python3 prog.py 4 —-vvv
the square of 4 equals 16
$ python3 prog.py 4 —-vvvv

(TH& ST Aol A1)




(o] A sl o] A A M A%)

the square of 4 equals 16
$ python3 prog.py 4
Traceback (most recent call last):
File "prog.py", line 11, in <module>
if args.verbosity >= 2:
TypeError: '>=' not supported between instances of 'NoneType' and 'int'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args()

answer = args.square**2
if args.verbosity >= 2:
print ("the square of equals ".format (args.square, answer))
elif args.verbosity >= 1:
print ("{}"2 == ".format (args.square, answer))
else:

print (answer)

= E‘re 7191 E default & Hﬂ%\/li‘r Eint v st7] A 0 o2 AP PF U 7| EH o=,
A oA} A A A & oro fﬂ None ZH< zHA| ﬂl, 212 int T} WL —’F %i%% (22 A TypeError
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A=

$ python3 prog.py 4
16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:

print (" to the power equals ".format (args.x, args.y, answer))
elif args.verbosity >= 1:

(TH& ST Aol A1)
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print ("{}"~{} == {}".format (args.x, args.y, answer))
else:
print (answer)

=9:

$ python3 prog.py

usage: prog.py [-h] [-V] x vy

prog.py: error: the following arguments are required: x, y
$ python3 prog.py -h

usage: prog.py [-h] [-V] x ¥y

positional arguments:
X the base

y the exponent

optional arguments:

-h, —-help show this help message and exit
-v, ——-verbosity

$ python3 prog.py 4 2 -v

472 == 16

AG7HA & A &
FA57] A3 A=
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:
print ("Running '{}'".format (__ _file_ ))
if args.verbosity >= 1:
print ("{}"~{} == ".format (args.x, args.y), end="")

print (answer)

=9:

$ python3 prog.py 4 2

16

$ python3 prog.py 4 2 -v
an 2 == 16

$ python3 prog.py 4 2 -vv
Running 'prog.py'

472 == 16
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import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_true™)

parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print ("{} to the power {} equals {}".format (args.x, args.y, answer))
else:

print ("{}*{} == {}".format (args.x, args.y, answer))

229 o)Al ¥ Ad Ao, RS 98 A /)5 dofMAEUTh o AT, 28 oD uth

$ python3 prog.py 4 2

472 == 16
$ python3 prog.py 4 2 —qg
16

$ python3 prog.py 4 2 -v

4 to the power 2 equals 16

$ python3 prog.py 4 2 -vqg

usage: prog.py [-h] [-v | —gq] x Vv

prog.py: error: argument —-g/--quiet: not allowed with argument -v/--verbose
$ python3 prog.py 4 2 -v —--quiet

usage: prog.py [-h] [-v | -g9] x vy

prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose
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import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_ true")
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

(TH& ST Aol A1)
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print (answer)
elif args.verbose:

print (" to the power equals ".format (args.x, args.y, answer))
else

print ("{}” == ".format (args.x, args.y, answer))
A4 BaE e ebzke] Aol ol BN L. (v | -q] ol FE ok s, v i -g B AST S
FA T FA ] & THE AHEE = k= YUt

$ python3 prog.py —--help
usage: prog.py [-h] [-v | -9] x vy

calculate X to the power of Y
positional arguments:
X the base

y the exponent

optional arguments:

-h, --help show this help message and exit
-v, ——-verbose
-g, ——quiet
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